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* We've established that the superiority of 0> |'"aj7 and it’s manifold
applications is that it focuses on the interaction between the two
human parties involved.

e We now want to zero in on the nature of that interaction.
* And what part of it are we using to effect |'wIT'?
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* Q: On what basis is 79022 q0> nIv

* Q: Is a source necessary to teach 79022 90> NIV
* |f so, then what is the source? And What might that tell us?

* Q: What is the scope of 0> nIw that is?
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* Q: On what basis is 79022 90D NIV
* Q0> and 90> nIY have the same value/worth
* QOd NIY = q0)
* 00D NIY achieves the formal status of 0>
* “Conversion”

» 2 different things, but both are effective
* Q0D NIV is effective just as q0d is effective



Do we need a Mpn’?

* Q: Is a source necessary to teach 79022 90> nIv
* |f so, then what is the source? And What might that tell us?

* If there is a source, do we always need one?
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